

$$\log_n m = a$$

$$n^a = m$$

$$\log_n m^2 = b$$

$$a > 0$$

$$\Rightarrow \log_{n^{a+1}} m^{2(a+1)} = b \Rightarrow \frac{2(a+1)}{a+1} \log_n m = b$$

$$\frac{2(a+1)}{a+1} = \frac{2(a+1)-1}{a+1} = 2 - \frac{1}{a+1} \Rightarrow \Delta < 2 \quad a > 0 \Rightarrow 2 - \frac{1}{a+1} > 1 \Rightarrow [b] = 1$$

$$y = \sqrt{\frac{2}{\log_{\frac{1}{2}} x}} \Rightarrow \frac{2}{\log_{\frac{1}{2}} x} \geq 0 \Rightarrow \log_{\frac{1}{2}} x > 0 \Rightarrow x > 1 \quad \Delta = [1 + \infty)$$

$$x > 0$$

$$\log_{\frac{1}{2}} x > 0 \neq 1$$

$$y = \frac{\log_{\frac{1}{2}} (2^2 - 2^x)}{\sqrt{2^x - 1} + 1}$$

$$2^2 - 2^x > 0$$

$$(2 - 2^x)(2^x + 1) > 0$$

$$\frac{-1}{+1} < \frac{-2}{-1} \Rightarrow 2 < x < 1$$

$$2^2 - 1 \geq 0$$

$$2^x \geq 1$$

$$x \geq 0 \text{ یا } x \leq -1$$

$$\Delta = (-\infty, -1) \cup (2, +\infty)$$

$$2 \log_2 a + \log_2 \sqrt{a} = 2 \quad a = 9$$

$$2 \log_2 a + \log_2 a = 2$$

$$\log_2 a + \log_2 a = 2$$

$$\log_2 a + \frac{1}{\log_2 a} = 2$$

$$a + \frac{1}{a} = 2$$

$$\frac{a^2 + 1}{a} = 2$$

$$\log_2 a = 1 \Rightarrow a = 2$$

$$a^2 + 1 - 2a = 0$$

$$(a - 1)^2 = 0 \Rightarrow a = 1$$

$$\log_2 a = 2$$

$$(1.5)^2 + (1.5) - 1.5 = 0$$

$$2^2 + 2 + 1 = 0$$

$$1.5 - 1.5 - 1.5 = 0$$

$$1 - 1.5 - 1.5 = 0$$

$$1.5 - 1.5 + 1.5 = 0$$

$$1 - 1.5 + 1.5 = 0$$

$$\log_2 a = 2 \log_2 a = 2 \Rightarrow a = 4 \quad \Delta = \frac{\sqrt{16}}{1.5} = \frac{\sqrt{16 - 1.5^2}}{1.5} = \frac{\sqrt{1.75}}{1.5} = \frac{1.4}{1.5} = \frac{14}{15}$$

- 6

$$\log_7^V = 2,8$$

$$\log_8^2 = 1,2$$

$$\log_{18}^1 = \frac{\log_7^1}{\log_7^{18}} = \frac{\log_7^1 + \log_7^2}{\log_7^2 + \log_7^8} = \frac{1 + 2}{2 + 8} = \frac{3}{10} = \frac{2}{19}$$

$$\frac{\log_7^V}{\log_7^2} = 2,8$$

$$\frac{\log_7^2}{\log_7^8} = 1,2$$

$$\log_8^2 = 1,2$$

$$\log_7^2 = 1,4$$

$$\log_{10}^2 = \frac{\log_7^2}{\log_7^{10}} = \frac{\log_7^2 + \log_7^5}{\log_7^2 + \log_7^{25}} = \frac{1,4 + 2}{1,4 + 25} = \frac{3,4}{26,4} = \frac{17}{132}$$

$$\frac{\log_7^2}{\log_7^8} = 1,4$$

$$1. \log_7^2 = 14 \log_7^8$$

$$\frac{\log_7^2}{\log_7^8} = \frac{14}{1}$$

$$\log_8^2 = 1,2 \log_7^2$$

$$= 1,4$$

$$\log_8^{18} = m$$

$$\log_8^{18} = \frac{1}{2} \log_8^{36} = \frac{1}{2} \log_8^{m+1} = \frac{m+1}{2}$$

$$\log_8^{m+1} = m$$

$$m+1 = 2^m \Rightarrow m-1 = 2^{m-1}$$

$$2^{\frac{m-1}{2}} = 2$$

$$(2f)^{2-1} = \left(\frac{1}{8}\right)^{2-2}$$

$$\log_8^{(2+1)}$$

$$\left(\frac{f}{1}\right)^{2-1} = \left(\frac{1}{8}\right)^{2-2} \Rightarrow \left(\frac{f}{1}\right)^{2-1} = \left(\frac{f}{1}\right)^{-2-2} \Rightarrow \left(\frac{f}{1}\right)^2 = \left(\frac{f}{1}\right)^{-4}$$

$$2-1 = -2-2$$

$$2-1+2-2=0$$

$$2 \rightarrow \frac{1}{2} \rightarrow -1$$

$$\log_8^{f^{\frac{1}{2}+1}} = \log_8^{\frac{f}{2}} = \frac{1}{2}$$

$$\log_r a = a \quad \log_r b = \frac{r}{r} (1, a) \quad \wedge \frac{r}{r} (1, a) = b \quad \log_{\frac{r}{r}} = \boxed{r} \quad -9$$

$$\log(rb - 1)$$

$$rb - 1 = r, r = 1 \cdot 1 - 1 = 1 \dots$$

$$r^{\frac{r}{r}} = b \Rightarrow b = \frac{r}{r} \cdot r^{\frac{r}{r}} = b$$

$$r \cdot a = r \Rightarrow b = \frac{r}{r} \cdot r^{\frac{r}{r}} = b$$

$$r \cdot a = r \Rightarrow b = \frac{r}{r} \cdot r^{\frac{r}{r}} = b$$

$$r \cdot a = r \Rightarrow b = \frac{r}{r} \cdot r^{\frac{r}{r}} = b$$

$$- \xi a x^r + b x + \frac{1}{r} c = 0 \quad -10$$

$$s_E = \frac{b}{-\xi a} \Rightarrow \frac{-\xi a}{b} = \log^r \quad b = \frac{\log^r}{-\xi a} \quad a = \frac{b \log^r}{r}$$

$$\left(\frac{1}{\sqrt[r]{r}} \right)^{\frac{c}{a}} = \left(r^{-\frac{1}{r}} \right)^{\frac{b(1, \log^r - 1)}{b \log^r}} =$$

$$\left(r^{-\frac{1}{r}} \right)^{\frac{r(1, \log^r - 1)}{1 \cdot b \cdot r}} = r^{\frac{-(1, \log^r - 1)}{\xi \log^r}} =$$

$$r^{\frac{1 - \log^r}{\xi \log^r}} = r^{\frac{\log^r - 1, \log^r}{1 \cdot \log^r}} = r^{\log^r} = \log^r$$

$$\log^r = \log^r$$

$$= \boxed{\log^r}$$